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PART I: WRITTEN RECEPTION (70 points)
(ACCESS TO INFORMATION FROM WRITTEN TEXTS)

Read the text below and then answer questions 1-8.

FLEXIBLE WORK

| Mark Taylor works for the TLJ computer company in New York. Until 2020, he worked five
days a week at the office. Then, during the Covid pandemic, the office closed and everyone
worked from home. For Taylor, this was a good arrangement. "At home, I could do all my work
at night," he explained. "And that is when I concentrate really well." So when the office finally
5  opened again, Taylor had a pleasant surprise. "Our boss said we need to work at the office only

two days a week," he said. "The other three days, we are allowed to continue working from home."

I What TLJ now offers its workers is known as "flexible work." Today many companies
allow their workers to do flexible work. "This enables people to choose the work hours that
are best for them. For example, parents of young children often want to start and finish work
10 early so that they can spend the afternoons with their kids," says sociologist Natalie Gibson.
"Flexible work can also enable you to choose where you work. Many people like to spend
at least part of the workweek at the office because they enjoy being with their colleagues.
Studies show that workers who have a flexible job feel happier and more relaxed both at work

and in their personal lives."

15 III There are several types of flexible work. The mix of spending some of the workweek
at the office and the rest at home is the most common type. In another type, workers can
choose to spend four 10-hour days at the office and get a three-day weekend. "Of course, when
different people work at different hours, it can be very difficult for workers to do teamwork,"
says Gibson. "But many companies have a solution. They ask all the workers to participate

20 in 2-hour meetings twice a week. If employees are working from home, they must join these

meetings online. In this way, everyone can keep in touch."

IV Of course, in some jobs people cannot work from home, or choose their work hours.
"Many workers need to be at a specific place at a specific time," says Gibson. "Think, for
example, of people who serve customers at the bank." However, she believes that more and more
25  businesses will offer flexible jobs. "That's because many very good workers apply for these jobs,"

she says. "This means that employers who offer flexible jobs will get high-quality workers."
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QUESTIONS (70 points)

Answer questions 1-8 in English, according to the text. In questions 1 and 4, circle the number of

the correct answer. In the other questions, follow the instructions.

1. What are we told about the TLJ company? (paragraph I)

1) In what year it was opened.

ii)  Why it moved to New York.

iii) What change it made after the pandemic.

iv)  Why it wants its employees to work at the office. (8 points)
2. Why was Taylor happy to work from home? Give ONE answer from paragraph I.

COMPLETE THE ANSWER.

BeCAUSE NE WAS ADIE 10 ..vvvvieiiiiiiiiiiieiieeeeeeeeeeeeeeee ettt et ettt aaaraaaraaaees .
(8 points)

3. What do we learn from paragraph II about parents of young children?

COMPLETE THE SENTENCE.

They might N0t Want t0 WOTK 10 .....co.iiiiiiiiiieie ettt .
(8 points

4. What do we learn from Gibson about flexible work? (paragraph II)

i) Which companies offer it to employees.

ii) How it can help workers.

iii) How sociologists study it.

iv) What disadvantages it has. (8 points)
5. What is described in lines 15-17?

COMPLETE THE ANSWER.

| DI (< (=) oL AR SURRRRTTRTRT .
(8 points)

6. What is the purpose of the 2-hour meetings mentioned in lines 20-21? Give ONE answer from
paragraph III.
COMPLETE THE ANSWER.

RS F:10) (S U 0 s Lo 01 (=) £ £ N .
(8 points)
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7. Who cannot do flexible work? Give ONE answer from paragraph IV.
COMPLETE THE ANSWER.

PEOPLE WHO .ttt sttt st ettt sttt .
(8 points)

8.  What does Gibson explain in paragraph IV about flexible jobs?
PUT A v BY THE TWO CORRECT ANSWERS.
......... 1) What kind of workers want them.
......... 11) Why they are so popular with workers.
......... iii) How to apply for them.
......... iv) Why they will become more common.
......... v) Why they are difficult to find.

......... vi) Which ones are the most popular. .
(2x7=14 points)
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i -

Write 80-100 words in English on the following topic.

9. Would you like to have a flexible job?

Write a composition explaining why you would or would not.

Use this page and the next (pages 7-8) for writing a rough draft.

7Ty

PART II: WRITTEN PRODUCTION (30 points)
(WRITTEN PRESENTATION)

9’120 ND09Y N*ANY ALY 9T NN

IMPORTANT: You may use words and/or phrases from the text in Part I.

However, you must NOT copy a sentence or sentences from the text.
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